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U[ARAR AL (Explain in detail)

L-R 3l uRua D.c. Gealrralel AA H3c B, URuUaUL 81E vl AMA lrycisddl ol
l-lléaj %3'5[ YA Anal. (L-R series circuit is connected with D.C. source. Derive equation
for growth of current at any time in electric circuit.)

aacﬂdq YR cdull yHestal. (State and Explain Thevenin’s theorem)

AsAdd ofloell Gullol s3la ojAcle] YRsecl 2ltclle] YA ANl (Derive the formula to
find out the inductance of inductor using Maxwell’s Bridge.)

UoSAAUeL @% Ullfg[a U HH‘XLCD..(Eprain Anderson Bridge with figure)

HLAL YHIAL scllet Avll. (Give Answer)

AR (oo UlArclk UM A (Explain Schering bridge briefly)

LA ([os @ 2aues Hiuet wsld U UM, (Explain measurement of a capacitor
by Desauty’s bridge.)

HetH Gl AsHRLe] uNA vl AUcl. (State and Explain Maximum Power transfer
theorem)

@¥ell A ad 92 AcAYU of MUl UHNAL (Explain Measurement of High Resistance
by the method of Leakage.)

10H of 805522 Aol 100 @ oll AcAel U ARAHL 15V ol A2d A3 8. Al uHA
UANLS, HedAH (A% Uclls ol A3ulcoll (A% Ucllgall g(erleR 2N (An inductor of
10H and a resistor of 100 Q are connected in series with 15V D.C. source. Find out

the time constant and maximum current of the circuit)

AR Al (Explain in detail)
[AaAct vd? R’ A Wl dHueld Aooll AU Fordolls of YA dlRdl.

(Obtain the equivalent focal length of two thin lences separated by a finite distance.)
Ulctou ol@atln Aodtott Bl w2 % =-2=(u-1) [Ri - Ri] A 52,
1 2

v

. . 1 1 1 1 1
(Prove that in the case of a thin convex lens riniiv (-1 [R_1 — R_z]
WAl R a3 dq caldsw Anstcll unddet [Qetdl W2 ua dstade] Yot Aadl.
(Derive the formula of path difference for the reflection section explaining interference by

thin layers.)




UA-2

(b)

siSelct @giﬂ UR ot cull. (Write a note on Cardinal points.)

HLAL YHIAL scllot Avll. (Give Answer)

oYeotoll el M2 wABls slsaruHstcll Asd(l ustatell dalcdous Wuclled Yyt
Aldd s, (Explain experimental arrangement for Newton’s rings and derive formula to
find out wavelength of monochromatic light.)

Qoell UlelR MLl (Explain power of lens,)

20 AL Ay 5 AL Fost Aol YAAAURX Wl wlEoln Qe uxela 8, ua 10
Aol iRl AL US 8. AA%ololl UUJEA S0 colle UL (Two thin convex lences
having focal lengths 20 cm and 5 cm are coaxial and separated by a distance of 10 cm
Find the equivalent focal length of the combination.)

oJeotoll clldAloll YAWIHL 1541 cldAall Al 0.590 AH] el 5HL Aol Al 0.336
Al oAl HeRll scll. Al AUdc-ol@olln Aodell Al 100 A &l Al AuAAA Ustatell

dRatcietsell kLAl $2A. (In Newton’s rings experiments the diameter of 15t ring was found to

be 0.590 cm and that of the 5% ring was 0.336 cm. if the radius of the Plano-convex lens is 100 cm,
calculate the wavelength of light used.)




